java.util.Scanner;

argsf]) {

scan = Scanner( .in);
.out.printin(

inputtedMaritalStatus = scan.nextLine();
letterStatus = inputtedMaritalStatus.substring(0, 1).toLowerCase();
.out.printin( );
income = scan.nextDouble();
scan.close();

tax = calculate Tax(letterStatus, income);
.out.printin( + tax +

maritalStatus, income) {

(income < 0)

(maritalStatus.equals("s")) {

(income >= 0 && income <

{

tax = (income* );

}

(income >= && income <




tax = ((income-

(income >= && income <
tax = ((income- )*.22)+
(income >= && income <
tax = ((income- )*.24)+
(income >= && income <
tax = ((income- )*.32)+
(income >= && income <

tax = ((income-

tax = ((income-

(maritalStatus.equals("m")) {

(income >= 0 && income <

{

tax = income*.10;

}

(income >= && income <

{

tax = ((income- )+ X

}

(income >= && income <

{

tax = ((income-

}

(income >= && income <




tax = ((income-

(income >=

{

tax = ((income-

}

(income >=

{

tax = ((income-

}
{

tax = ((income-

}

.out.printin(

.round(tax*




